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1. A Uu(X) fF(x)+v(x)g(x) =d(x) ,ud(x) =2 f(x)Ffg(x) —NmKnH
A (F)

2. A AR f(X)EQ LEAAHMM f(X)E£Q LAY, (5 )

3. % p()| f(x)g(x) H p(x) [ ((x)+9(x)) 3k p(x) LU F _EAFTL,

M px) | f(x) 5 p(x)[g(x). ( E#H )
=) =x = =x?+2x-1,9(x) = x* —2x+1,

(1) R (f(x),9(x)):
(2) Ru(x),v(x) AFux) F ) +v(x)g(x) = (T(x),9(x)).

i f=g(x-)+x*—x,g=r(X+1)+(—x+1),1=r,(-x) 1
(f(x),9(x))=x-1,1mr,=—q,f +(1+0q0,)g RN

(F(x),9())=-1,=0,f —(L+0q0,)g ,u(X) =x+1v(x) = —x?
I, #% f(x)=a(x—2)* +b(x+21)*+cx?, g(x) =x—4,% f(x)=g(x),k
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. BazmR f(X) = X3+t +x+u FZmR g(x) = x>+ @+t)x* +11)
BR AR R —A R E A K, u IME.

fi: £(x)=g(x)a,(x)+r,(x), 5K g (x) =L r(x) =-x*+x+u-1.

g(x) =r(X)0, (X) +r,(x) g, (x) =—x-2-t,

LX) =U+1+t)x+1+(2+t)(u—-1) ,HmARAR 2L R T, N
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14t=0
rz(x)=(u+1+t)x+1+(2+t)(u—1)=0,Mﬁﬁ{ e ey

1+(2+t)(u-1)=0
{t:—l gz;g{t:_3,
u=0 u=2

s i (F(%),h(x) =1, (9(X), h(x)) =14 B1224 (£ (X)g(x),h(x)) =1.

W 1 (f,h) =1 (g,h) =1m% FEZ B, v, Uy, v, 13
u, f +vih=1u,9 +v,h =157 4w 105 7 1 ef7
u,u, fg +[uv, f +u,v,g +v,v,hlh =1 M5 (f (x)g(x),h(x)) =1.

R, % (fg,h) =177 u, v, 7t ufg +vh =1,5 (f,h) =1 (g,h) =1.



